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�4D>4 FD4=E?>DF=>7> ED54EF64 Renault 

&<? FD4=E?>DF=>7> ED54EF64 JL (Trafic) 

�>4<D<>4F<O (65DE<O) JLAA�6, JLBA�6, JLBAB6, JLDA�6, JLEA�6, JLEAB6, JLNAA6, 

JLJGB6, JLJGA6, JLMGA6, JLMGB6, JLKGA6, JLCAA6, JLDNA6, 

JLANA6, JLUNA6, JLENA6, JLENB6, JLBNA6, JLBNB6, JLKNA6, 

JLJNA6, JLJNB6, JLMNA6, JLMNB6 

�4F57>D<O FD4=E?>DF=>7> ED54EF64 �1 

�>4 &� �-�  8703 23  

�>4 VIN VF1JL???6???????? 

->>?>7<G5E><= >?4EE 2 

�4O6<F5?L, ?D54EF46<F5?L <77>F>6<F5?O < 57> 

44D5E 

��� «�6F>DD4<>E» 

109147, $>EE<O, 7. �>E>64, G?. �>D>=F>6E>4O, 4. 35 

�77>F>6<F5?L < 57> 44D5E RENAULT s.a.s. 

13/15, Quai Alphonse le Gallo, 92100, Boulogne-Billancourt, 

France 

%5>D>G=O5 746>4O < <E 44D5E4 I.B.C Vehicule Limited, Kimpton road, LUTON LU2 OTY, 

ROYAUME UNI 

ZONA FRANCA, Sector B, Calle 3, 7 77-111, 08040-

BARCELONA, ESPAGNE 
 

��-�� %�$��&�$�%&��� &$��%��$&���� %$��%&�� 

�>?5E=4O D>D<G?4 / 654GM<5 >>?5E4 4E2/?5D54=<5 

 

%E5<4 >><?>=>6>< FD4=E?>DF=>7> 

ED54EF64 

�5D54=5?D<6>4=4O, E ?5D54=<< ?>?5D5G=O< D4E?>?>65=<5< 46<74F5?O 

&<? >G7>64 / >>?<G5EF6> 465D5= �5EGM57> F<?4, 647>==>= >><?>=>6></4 (465 5>>>6O5 465D< 

D4E?4L=>7> F<?4, >4=4 5>>>64O 465DL E46<6=>7> F<?4, 744=OO 

46GEF6>DG4F4O 465DL D4E?4L=>7> F<?4 <?< >4=>EF6>DG4F4O 465DL 

?>465E=>7> F<?4) 

�?O <>4<D<>4F<=: JLA, JLB, JLJ, 

JLD, JLU 

JLK, JLC JLD, JLE, JLM JLN 

�>?<G5EF6> <5EF:           1-=/ 

                                          2-=/ 

                                         3-= DO4 E<45=<= 

1+1 <?< 1+2 

0 <?< 3 

0 <?< 3 

2 

3 

3 

1+1 <?< 1+2 

0 <?< 3 

0 

1+1 

2 

1/1+1/3 
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�?O <>4<D<>4F<=: JL??A? JL??B?, JL??A? 

�454D<F=O5 D47<5DO, <<  

- 4?<=4 4782 5182 

- L<D<=4 1904 

- 6OE>F4 1915�1982 

�474, << 3098 3498 

�>?5O ?5D54=<E / 744=<E >>?5E, << 1615/1630 

�?O <>4<D<>4F<=: JL??A? JL??B? 

�4EE4 E=4DO65==>7>  

FD4=E?>DF=>7> ED54EF64, >7 (?> �%& 

37.001.408-85) 

 

1668�2240 

 

1712�2073 

�>?=4O <4EE4  

FD4=E?>DF=>7> ED54EF64, >7 
2691�2981 2925�3061 

- =4 ?5D54=NN >EL 1329�1430 1469�1526 

- =4 744=NN >EL 1362�1551 1456�1535 

�>?GEF<<4O ?>?=4O <4EE4 ?D<F5?4, >7  
- ?D<F5? 557 F>D<>7>6 750 
- ?D<F5? E F>D<>74<< 2000 

Renault,  

F4R 

�6<74F5?L (<4D>4, 

F<?) 

55=7<=>6O=, G5FOD5EF4>F=O=, 6<4>>EF=>7> >E?4645=<O 
�>?<G5EF6> <  

D4E?>?>65=<5 F<?<=4D>6 
4, DO4=>5 

65DF<>4?L=>5 
$45>G<= >5N5<, E<3 1998 
%F5?5=L E64F<O 9,8 
�?O <>4<D<>4F<=: JL?A, JL?G JL?G JL?N 
�4>E<<4?L=4O  <>M=>EFL, >�F (<<=-1) 87,5 (4700) 85,5 (4700) 86,0 (4700) 
�4>E<<4?L=O= >DGFOM<= <><5=F,   

�.< (<<=-1) 
190 (3750) 186 (3750) 190 (3750) 

&>??<6> 55=7<= E >>F4=>6O< G<E?>< =5 <5=55 95  

%<EF5<4 ?<F4=<O D4E?D545?5==O= 6?DOE> F>??<64 c M?5>FD>==O< G?D46?5=<5< 
�?>> G?D46?5=<O E<EF5<>= 6?DOE>4 (<4D>4, 

F<?) 
SAGEM/ 

8200 065 807 

SAGEM/ 

8200 202 930 

SAGE JSAE 

8200 533 652 
$>DEG=>< (<4D>4, F<?) Renault,  

028 797 

Renault, E D<?LFDGNM<< M?5<5=F>< EGE>7> F<?4,  �>74GL=O= D<?LFD (<4D>4, F<?) 

77 00 104 844, 77 00 107 946 
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%<EF5<4 746<74=<O -?5>FD>==4O, 55E>>=F4>F=4O, E>6<5M5=4 E 5?>>>< G?D46?5=<O E<EF5<>= 

6?DOE>4 
�?>> G?D46?5=<O 746<74=<5< (<4D>4, 

F<?) 
E>6<5M5= E 5?>>>< G?D46?5=<O E<EF5<>= 6?DOE>4 

�4FGL>4 746<74=<O (<4D>4, F<?) $4745?L=O5 =4 >464>= E65G5 746<74=<O 
%65G< 746<74=<O (<4D>4, F<?) Eyquem: C52LS, C52LS3, RFC50LZ2E, RFN58LZ, RC52LS, RFC52LS, 

RFN58LZ,  FC52LS. 

Champion: C9YCX, RC10DMC, RC10YCC, RC10YC, C10YC, RC89YCL, 

RC87YCL, N7YCX, N281YC, RC10YCL, C10YCX. 

NGK: BCP5ES, BKR5ESZA. 

Bosch: W7DCO, W8DCO, W8DCO4, WR8DCO4. 

%<EF5<4 6O?GE>4 < =5=FD4?<74F<< 

>FD45>F46L<E 747>6 
�64 <?< FD< 7?GL<F5?O, 

E<EF5<4 =5=FD4?<74F<< >FD45>F46L<E 747>6 
�E=>6=>= 7?GL<F5?L (<4D>4, F<?) Renault, 296, 295, 350 

�>?>?=<F5?L=O= 7?GL<F5?L (<4D>4, 

F<?) 
Renault, 300, 348, 295 

�5=FD4?<74F>D (<4D>4, F<?) Renault, %166, %286 

&D4=E<<EE<O �5E4=<G5E>4O 

%F5??5=<5 (<4D>4, F<?) Renault, >4=>4<E>>6>5, EGE>5, DD<>F<>==>5, E F5=FD4?L=>= 

4<4DD47<5==>= ?DG6<=>=, E 7<4D46?<G5E><< ?D<6>4>< 
�>D>5>4 ?5D544G (<4D>4, F<?) PK6,  

?>?=>EFLN E<=D>=<7<D>64==4O, E DGG=O< ?5D5>?NG5=<5< ?5D544G 

'<E?> ?5D544G 

 
?5D544F>G=O5 G<E?4  >>D>5>< ?5D544G: 

I  

II 

III 

IV 

V 

V� 

3x 

6?5D54- 6, =4744  - 1 

 

 

3,903 

2,188 

1,387 

0,976 

0,756 

0,638 

3,891/3,664 

�?46=4O ?5D544G4 (<4D>4, F<?) Renault, F<?<=4D<G5E>4O, >>E>7G54O 

- ?5D544F>G=>5 G<E?> 7?46=>= 

?5D544G< 
4,824/4,866 
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�>465E>4  

- ?5D54=OO �5746<E<<4O, ?DG6<==4O, F<?4-�E. Pherson, E F<?<=4D<G5E><<< ?DG6<=4<<, E 7<4D46?<G5E><<< 

F5?5E>>?<G5E><<< 4<>DF<74F>D4<<, E> EF45<?<74F>D>< ?>?5D5G=>= GEF>=G<6>EF< <?< 557 =57> 

- 744=OO ?>?G=5746<E<<4O, =4 ?D>4>?L=OE DOG474E, E FO7>= �4=4D4, E 7<4D46?<G5E><<< F5?5E>>?<G5E><<< 

4<>DF<74F>D4<<, E> EF45<?<74F>D>< ?>?5D5G=>= GEF>=G<6>EF< <?< 557 =57>. 

$G?56>5 G?D46?5=<5 (<4D>4, 

F<?) 

Renault, DG?56>= <5E4=<7< F<?4 «L5EF5D=O-D5=>4», DG?56>= ?D<6>4 E 7<4D>GE<?<F5?5< <?< 557 =57>. 

&>D<>7=O5 E<EF5<O:  

- D45>G4O % 7<4D46?<G5E><< 46GE>>=FGD=O< 4<47>=4?L=> D4745?5==O< ?D<6>4><, 4<E>>6O5 F>D<>7=O5 

<5E4=<7<O =4 ?5D54=<E >>?5E4E, 4<E>>6O5 <?< 54D454==O5 � =4 744=<E >>?5E4E. �=F<5?>><D>6>G=4O 

E<EF5<4 >4F57>D<< 1. 

- 74?4E=4O Renault, >464O= >>=FGD D45>G5= F>D<>7=>= E<EF5<O. 

- EF>O=>G=4O  Renault, <5E4=<G5E>4O, E DGG=O< (FD>E>6O<) ?D<6>4>< =4 F>D<>7=O5 <5E4=<7<O 744=<E >>?5E. 

  

,<=O  <4D>4 $47<5D �=45>E =5EGM5= E?>E>5=>EF< �4F57>D<O E>>D>EF< 

 � 195/65R16 100 <?< 98 R <?< & 

 � 205/65R16 107 <?< 105 R <?< & 

 � 215/65R16  106 <?< 104 R <?< & 

 � 195/75R16 107 <?< 105 & 

�>?>?=<F5?L=>5 

>5>DG4>64=<5 

FD4=E?>DF=>7> ED54EF64 

�5DG4F>G=O= OM<>, >>=4<F<>=5D (E?44475=F R-1344), D<?LFD E4?>=4, 4F5D<<G5E>>5 ?>5>6>5 EF5>?>, 

?>5>6>5 EF5>?> E ?>4>7D56><, EF5>?>>G<EF<F5?L 744=57> EF5>?4, ?D>F<6>G7>==>5 GEFD>=EF6>, E<45=L5 

6>4<F5?O <?</< ?4EE46<D4, D57G?<DG5<>5 ?> 6OE>F5, ?>4?>>>F=<><, E5F>4 >D5??5=<O 547464, 5>DF>6>= 

>><?LNF5D, ?>4GL>< 557>?4E=>EF<, 46F><47=<F>?4 E 4<EF4=F<>==O< G?D46?5=<5<, 

M?5>FD>EF5>?>?>4N5<=<><, F5=FD4?L=>5 G?D46?5=<5 74<>4<< 465D5=, ?D>F<6>FG<4==O5 D4DO, 

?D<F5?=>5 GEFD>=EF6>. 

    �5=EF6<5 44==>7> «�4>5D5=<O F<?4 FD4=E?>DF=>7> ED54EF64» D4E?D>EFD4=O5FEO =4 ?4DF<N G>474==OE FD4=E?>DF=OE ED54EF6 6 

>>?<G5EF65 150 (EF4 ?OF<45EOF<) LFG>, 66>7<<OE ?> 4>7>6>DG 7 FR/18609799/54 >F 30.06.20047. 
   �5>?4D4F<< > 66>7<<OE =4 F5DD<F>D<N $>EE<=E>>= $545D4F<< FD4=E?>DF=OE ED54EF6 44==>7> F<?4 (D47<5D < >F?<G<F5?L=O5 

?D<7=4>< >F45?L=OE ?4DF<=) ?5D544NFEO ?D><76>4<F5?5< <?< >D<F<4?L=O< 4<?5D>< 565<5EOG=> (6=5 746<E<<>EF< >F D4>F4 ?>EF46><) 6 

�D74= ?> E5DF<D<>4F<<, =4 >E=>64=<< G57> 6O44NFEO 7465D5==O5 >>?<< «�4>5D5=<= F<?4 FD4=E?>DF=>7> ED54EF64». 

 

 
Renault Trafic JL (JLAA�6, JLBA�6, JLBAB6, JLDA�6, JLEA�6, JLEAB6, 

JLNAA6, JLJGB6, JLJGA6, JLMGA6, JLMGB6, JLKGA6, JLCAA6, JLDNA6, 

JLANA6, JLUNA6, JLENA6, JLENB6, JLBNA6, JLBNB6, JLKNA6, JLJNA6, 

JLJNB6, JLMNA6, JLMNB6) 

 

 
 
      �?<E4=<5 <4D><D>6>< FD4=E?>DF=>7> ED54EF64 ?D54EF46?5=> 6 ?D<?>65=<< 7 2. 

      �5M<= 6<4 FD4=E?>DF=OE ED54EF6 =4 1->< ?<EF5 ?D54EF46?5= 6 ?D<?>65=<< 7 3. 

 
 

 

     �.�. �5=<E>6             %.�. �G74G56 
 

     �5=EF6G5F E « 04  »  E5=FO5DO  2006 7. 

 
                            

.                                        04                E5=FO5DO                         6 
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�D<?>65=<5 72 > «�4>5D5=<N  

                                                                                                         F<?4 FD4=E?>DF=>7> ED54EF64» 
 

 

���%���� ��$��$���� &$��%��$&���� %$��%&�� 

 

1.  �5EF> D4E?>?>65=<O < D>D<4 7=4>4 E>>F65FEF6<O: 

 

$O4>< E F45?<G>>= <77>F>6<F5?O.  

 

�=4> E>>F65FEF6<O 6O?>?=5= ?> ��%& $ 50460 E G>474=<5< =><5D4 44==>7> 

«�4>5D5=<O F<?4 FD4=E?>DF=>7> ED54EF64». 

 

2.  �5EF> D4E?>?>65=<O F45?<G>< <77>F>6<F5?O: 

 

� ?D46>< ?5D54=5< 465D=>< ?D>5<5 =4 EF>=>5 >G7>64. 

 

3.  �5EF> D4E?>?>65=<O <45=F<D<>4F<>==>7> =><5D4 (>>4 VIN): 

3.1 �4 F45?<G>5 <77>F>6<F5?O. 

3.2 � E4?>=5, =44 EFG?5=L>>= 6 ?D>5<5 ?D46>= ?5D54=5= 465D< 

 

4.  %FDG>FGD4 < E>45D64=<5 <45=F<D<>4F<>==>7> =><5D4 (=><5D>6) FD4=E?>DF=OE ED54EF6: 

 

1.  2. 3. 4. 5. 6. 7. 8. 9. 10. 11. 12. 13. 14. 15. 16. 17. 

V F 1 J L ? ? ? 6 ? ? ? ? ? ? ? ? 

 

?>7. 1-3: �564G=4D>4=O= <45=F<D<>4F<>==O= >>4 <77>F>6<F5?O (WMI): 

VF1 � >>4 <77>F>6<F5?O � Renault s.a.s., France; 

?>7. 4: F<? >G7>64 

 J � >><5<; 

?>7.5: <>45?L FD4=E?>DF=>7> ED54EF64 

 L � Trafic; 

?>7. 6:  ?>?=4O <4EE4: A, B, D, E, J, M, N, K 

?>7. 7:  F<? 46<74F5?O: A, G, N � F4R;  

?>7. 8:  E4D4>F5D<EF<>4 5474/6OE>F4: �; �; 

?>7. 9:  F<? >>D>5>< ?5D544G: 

  6 � <5E4=<G5E>4O, L5EF<EFG?5=G4F4O; 

?>7. 10-17: ???????? � ?D><76>4EF65==O= ?>DO4>>6O= =><5D FD4=E?>DF=>7> ED54EF64. 

. 
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�D<?>65=<5 73 > «�4>5D5=<N  

                                                                                                              F<?4 FD4=E?>DF=>7> ED54EF64» 
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